GENERAL NOTES:

1.

10.

11.
12,

13.
14,

15.
16.

17.

18.
19.
20.

THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL
EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE
EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL.
THIS SYSTEM HAS BEEN TESTED AND EVALUATED IN ACCORDANCE WITH
THE FLORIDA BUILDING CODE SIXTH EDITION (2017), FOR USE INSIDE
THE HIGH VELOCITY HURRICANE ZONE, AND THE INTERNATIONAL
BUILDING CODE (IBC) AND INTERNATIONAL RESIDENTIAL CODE (IRC).
SEE EVALUATION FOR MORE INFORMATION,

POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH
THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN
ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN
PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS
SHOWN.

TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND
ASTM E1886/E1996/E330. SEE EVALUATION REPORT FOR MORE
INFORMATION.

DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED
PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF
THESE PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED
FOR WOOD ANCHOR DESIGN. :

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE
GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD
CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY
FACTOR OF Kd =0.85 SHALL BE USED.

THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SPECIFIC SITE.

PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING
STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS.

ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM,
BRICK, AND OTHER WALL FINISHES.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER
61G15-23 OF THE FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE
CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM
THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES
THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR
MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN.
ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS
WILL VOID THE APPROVAL DOCUMENTS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE
FOLLOWING MINIMUM INFORMATION:

TOWN & COUNTRY INDUSTRIES
FORT LAUDERDALE, FL
MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203
FLORIDA PRODUCT APPROVAL NUMBER

ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N.,
WITH A MINIMUM Fy OF 25 K.S.L.

ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE
STAINLESS STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.1L.,
U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY.
MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION
PROVIDING WIND LOAD & IMPACT RESISTANCE = +69.3/-79.5 PSF FOR
ALL NON-SLIDING PANEL WITH TRACK CONFIGURATIONS. MAXIMUM
ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION FOR ALL SLIDING
PANEL TRACK CONFIGURATIONS = +57.2/-66.2 PSF.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28
PSF

SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE
LEFT IN THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT.
ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED,

2.190"

COLONIAL SHUTTER (HVHZ ONLY) |

PATENT #8126298

1.200"

00
r
==

—. 080"

1.380"
1.200

1.040"

566"

. 185"
233"

le le

090" —4

2442

1.875"

MUNTIN
SCALE: HALF SIZE

R13.796"
R13.851"

R.081"

1.510"

R.250"

JAMB
SCALE HALF SIZE

COLONIAL BLADE
SCALE HALF SIZE

2.755"

245" 4

2.365
2.280"

(7

|

+j <

RAZLS”—/

520"

910"

FLAT HINGE
SCALE: HALF SIZE

4120”7

fand

145¢

1.900

45107

WALL HINGE
SCALE: HALF SIZE

2.190"

2.000"

1606"

L, 190"
TYP.

4

2.000"

1606"

1.796" |

A

(19

i

P VRN

21

Pk

JAMB SNAP

30.155"

0.128"
r0.307"

0.050" - r0.375"

e

105"

0. \RO.IOO“
1.792" —¢ \“R0.050"

2.118"

2" BAHAMA BLADE
SCALE: HALF SIZE

055"

RO.081"

£0.050"

r0.375
r0.402"

N
\\

W
*
-
-8
-0.269"
”

.
o
—

PRI

o N

v
‘y

e &——

———-)

:R0.100"

!

SCALE: HALF SIZE

-,ﬂf‘.o%“
[ 060"

N

2.521"

1621

1.410"

750
el
2,625

145"

3.663"
4.000"

4" BAHAMA BLADE

SCALE: HALF SIZE

R.245"
TN
N

3.015"

L

«—
1.590"

HEADER / SILL
STALE: HALF SIZE

L1207

4 510"

BUILD-OUT WALL HINGE

SCALE: HALF SIZE

4.190"

1.000"

3.000"

3.000"

,1.000"

1.375"

625"

8.000"

"Z' BAR - PROFILE & LAYOUT

SCALE: HALF SIZE

A

1.000" 3.000"

3.000"

,1.000"

2.000"

, 190"

TYP. 8.000"

LOCKING

FLARED END

2507 ¢,

1.375"

2500" L

525"

1.606"
1.796"

ANGLE
STALE  HALF SIZE

N

L-PIN-1/4" &

SCALE : HALF SIZE

N
Ny

1.188"

)

EQ. L

J—.OSO"
L

EQ.

1.188"

Ll

(1-ANCHOR)

080"~

10" 70
2.0

2z

RO.050"

~ B
~ .
-
~

1.188"

75

D

@

757

{2-ANCHOR)

"G GLIPS
SCALE - HALF SIZE

q
SECTION A

q&\(\
SEATNN

‘s

]
m
3
e
(=
[y
o
w

FRANK L. BENNARDO, P.E,
# PEQQ46549 .

0443,
oM “
» C
gé’Iu;n\\ )

UITE 106
Fl. 33442

FYC
S

%
:(95
'@s

AT
Ay
DEERFIELD BEAC

CERT OF AUTH #98

CORPOR.
ENGINEERINGEXP

P: (954) 354-0660 F:
E: HELLO@ENGINEERIN

160 SW 12th

ADivision of ABC Supply Co., Inc.

Wholesale Aluminum and Building Products
400 WEST MCNAB ROAD FT. LAUDERDALE, FL 33309
FLORIDA PRODUCT APPROVAL #16219.2

09/28/16]

12/20/12
08-07-17]

OR OTHER MARKINGS

DRWNICHKD | DATE
LB
RWN |TSB  |04/16/15}

KL

RWN [FLB
RWN [FLB

PLE AL

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
., ADDITIONS,
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

BC UPDATE
EV (2017 FBC)

REV - ADD 4" BLADE

‘THES DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, £.£ AND SHALL NOT BE

JiNIT 1SSUE (12-TcM=05)

1]
¥
[4
<
o
o 'y o
fmmn——

YRIGHT FRANK L. BENNARDO P.E.

COl

h

15-2347

SCALE: -
PAGE DESCRIPTION:

OF

I




SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXIST. STRUCTURE, TYP.
} FOR ALL Z-BARS

| COLONIAL SHUTTER (HVHZ ONLY) |

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXIST. STRUCTURE, TYP.

(190r(Y FOR ALL Z-BARS EMBED b EXISTING STRUCTURE < -
DETAL F~ /@ ¢ DETAIL /‘® DETAIL J/ v op i : > Y Nopegnee 2
PaE sy p T : : * M 540 . St
, X 7T - M . —
K i RN \\ [ﬁ] G OR@ - 13 [y’ o * -
- - [ LN - 5 - P, M g: -
. o -0 M #O
9 ASSEMBLY SCREW SHALL BE #10 . XY ™, ET " mg%m
N 1/4-20 S.S. MACHINE SCREW INTQ =] % 1/6-20 S5 MACHINE SCREW INTO =] Lo T STAINLESS STEEL /,6\@ 10D B2 v 8
2 1/4-20 ALUMINUM RIV-NUT AT EACH < 1/6-20 ALUMINUM RIV-NUT AT EACH CREW XYLON COATING OREQUIV. 7, B &)y 1 SR
b VERTICAL b2 VERTICAL — ‘44, Oy RoL T
in \ in 1 I n g«>¥¢§53
= v R MUNTINCT IREPLACES ANY (2) |Z<ug riURS
N \ N COLONIAT BLADES(S)) 10cO8ES
AN g N o el a - $- 3R]
A L ! : \ N 4737 MIN. EnBgaHy
Z -_-—--.—-_._‘—-—-—,.-“-—4-_}4.—3[»—{-— <Z( (—]——‘—-———-————-———ﬁ—o——--—————»--——--———‘—‘—-——-———»-——-—————--——L———%— SEPARATION 0HE§%E
a el x ol AT 3 FROM GLASS 2840
o o5 0 05 e sL§
W g i e ot
w v/ Ho g = / Ha g ©n
F| BEAM L | BEAM 2y -
& Ios 2 o5
w O Lt
Hd &> v H &>, BEAM
[ V¥ udz i V¥ w3z
a1z Zag INSTALLATION OF BLADES MAY o
1 s S AL iy = T, M BE REVERSED ;
e S N Y & B | AN — ; -2
Emg Emi : b R
frry G40 E—m— e A TN {4} 1/4-20 ALUMINUM wubB: o
(100R o A Y P RIV-NUTS o — 5 S -
> C % w e
G Tvp o © g A00R() ﬂﬁe%&u‘g
N 1]
3400 MAX. 34.00" MAX 34L.00" MAX. 34.00” MAX. 34.00” MAX. y i m%,g g *
s I el o }
SHUTTER WIDTH = 68.00" MAX. SHUTTER WIDTH = 102 00 MAX. Q 3Q§§ as
: H14x1" STAINLESS STEEL SMS Qz'i E20
BEAM SPAN BEAM SPAN eaeD \J||  FLAT HEAD OR ROUND HEAD "5 5%
o rd & .
TYPICAL ELEVATION 2 PANEL G TYPICAL ELEVATION 3 PANEL + & k<
SCALE 172" = 70" SEE Z-BAR ANCHOR SCHEDULE FOR SCALE- 1727 = 1-0 IYPICAL PANEL SEC £ 2 g
CONNECTION TO EXIST. STRUCTURE, TYP LP ECTION £ ORA
OR ~ ' I 1R g £ €05
DETAIL DETAILP@ /—@ [ FORALZ-BARS BEAM SCHEDULE SCALE: 3" = 1-0 =5 o
ki Y WALL BRACKET ANCHOR TYPES (+69.3/-79.5 PSF MAX) - L 55
(e : [fi] ! 4 D A eacH ALUMINUM | SHUTTER | BEAM SPAN pe g Zg
eI gl - D AT EA | engul 11
BEAM SIZE - 79, - @S
~- -t WALL -HINGE. ALLOY span  |(+/ szs) PSF CONCRETE HOLLOW BLOCK | WOOD (G=0.42 Q 2 9 g
SEE WALL-HINGE MIN) Dl = S
— ANCHOR o
§ 1/&-20 SS. MA[HH\;E SCREW INTQ SCHEDULE FOR 8'-1.75" 5 6" AB,CD.E ACE B,C 3
5 @&~ verreal TINHRIV-NUT AT EACH CONNECTION T0 2'x3"x1/8" | 6063-T6 | 6-8" 61 ABCDE ABCE B.C
4 \ EXIST 5-10" 6 6" ABCDE ABCE B,C
in ) STRUCTURE , - — SIS
~ OR 8'-1.75 6'9 AB,CD,E AC, B,C MsiggiT ;'3_,"’§
S ae~| , B
*1(® AN : 2"x4"x1/8" 6063-T6 68" 75" ABCDE AC, B.C <|8/2|8 %
" - & 1 RRREEN
! : 5107 8 0" ABCDE AC, B.C g goEE
o o e e e e e T e e T e T - - i
N BT 3 = 8'-1.75" 8' 0" ABCDE AC, 3523 §§§§
o 05 2"x5"x1/8" 6063-T6 6'-8" 8' 10" ABCDE AC, BC 2l [zlele| o0
w w W 5'-10" 9' 5" AB.CDE AC, B,C A3 :‘s%é
'_BEAMJ Qo oRlZ\Fw|. £3g
= Zao 8'-1.75" 10'5" ABCDE “Egg
o 4
z oy 2"x4"x1/4" 6061-T6 6'-8" 11'6" ABCDE AC, 8 || | Bl
I w S > w 5'-10" 12' 4" AB.CDE AC, B |2 ]
w2 £ &l |BIG] |EE3
Z 3 & » TYPE A: 14-20 ALL POINT SOLID SET ANCHORS: Slalkl § ;’E;é
] | g, 0 - IN CONCRETE (3.35KSI MIN) WITH %" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING HEEERS g§°—§
M ES] Bl Wt - IN HOLLOW CONCRETE BLOCK WITH 7" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING 223205 §§§E
; Emg « TYPE B: %-20 ELCO PANELMATES (MALE/FEMALE): HERE NS
= T = Y - IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 24" MIN EDGE DIST. AND 3" MIN SAPCING PRI PR
; COPYRIGHT FRANK L BENNARDO PE.
(9) Y - IN HOLLOW CONCRETE BLOCK WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING
~ IN WOOD (G=0.42 MIN) WITH 1%" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING 15-2347
3L.00" MAX. 34 00" MAX. 34.00" MAX 34 00" MAX. * TYPE C: " ITW TAPCON SG: o -
- IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SPACING :
SHUTTER WIDTH = 136.00" MAX. - IN HOLLOW CONCRETE BLOCK WITH 1%," MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING PAGE DESCRIPTION:
- IN WOOD (G=0.42 MIN) WITH 17" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING -
BEAM SPAN « TYPE D: %" MILLENIUM MILLFAST: -

TYPICAL ELEVATION 4 PANELS MAX.
SCALE: 1727 =1-0"

[3) ANCHORS REQUIRED, SEE Z-BAR
ANCHOR SCHEDULE FOR CONNECTION

T

7, .
2,

VA

FRANK L. BENNARDO, P.E.\
046549 N

~ IN CONCRETE (3.275KSI MIN) WITH 13," EMBED, 2%" EDGE DIST., AND 4" MIN SPACING

- IN HOLLOW CONCRETE BLOCK WITH 1%," EMBED., 2%" MIN EDGE DIST. AND 4" MIN SPACING
e TYPE E: #12 SMS W/ 2" EYEWALL ARMOR NYLON INSERT:

- IN CONCRETE (2KSI MIN) WITH 2" EMBED, 2" EDGE DIST. AND 3" MIN SPACING

- IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED, 2" EDGE DIST. AND 3" MIN SPACING

OF

2




FRANK L. BENNARDO, P.E.
549 ' \
\\\ 7
USE 2X4X1/4 ANGLE FOR 3" & 4" BEAMS, \\\ RN :
7716”9 x 3-1/2" LONG USE 2X5X! /4 ANGLE FOR 5" BEAMS ~ st >
STAINLESS STETEL BOLT WITH _TYP. TOP AND BOTTOM OF BEAM 17620 S.S. MACHINE SCREW INTC 1/4-20 iy LL A Z
. . S5 00" ALUMINUM RIV-NUT AT EACH VERTICAL JAMB > ¢ NoHEQg4gsigq - 03 =
NYLON LOCK NUT 50 50 50% OF BEAM o N = * : - =
1606 ’ YIDTH PN (L ANGLES b 500" ) 1/4-20 5.5, MACHINE SCREW INTO 1742 : m TR
i _j; 63" 1 |CL ANGLES 1 ALUMINUM RIV-NUT AT EACH VERTIE:ALﬁ . Z = &G:E:
JAMB - R & ]
Nk N e[ 2. el 45T
: r) ® : AN A oy S
S \ I N T FENE Y
o O - T T ////S/o ’ B \\§%mg
13) 3/16"® STAINLESS STEEL ; \@ I é 4 //,“W * ﬁ.}ja 89K E
POP RIVETS, TYP. EACH SIDE 63" | | PN
OF HINGE _ g / 1 |E<wauos
: S\ ' 1O ~MgZZ
TYPICAL PANEL’HIN'GE / 2X4X1/4 ANGLE OR 2X5X1/4 ANGLE. ' &5 a ;g & E
SCALE: 3" = 1'-0 L] ® 6063-T6 ALUMINUM ANGLE, TYP. TOP o‘:l' - Qé‘)m &)
. 5" AND BOTTOM OF BEAM o~ gz
7/16"® x 3-1/2" LONG (1 7/16"0 3L 240
STAINLESS STEEL BOLT WITH EMBED MACHINE BOLT BEAM SPAN 100" BEAM SPAN ———— hog &8Z
NYLON LOCK NUT 50~ 50" S\ WITH LOCK NUT < 7 1125 MIN oll
' {2) ANCHORS REQUIRED EACH (1) 7/16™% MACHINE [BOLT WITH ¥y , MIN 7T o gu
/—@ ANGLE, SEE BEAM SCHEDULE LOCK NUT EDGE DISTANCE MmN 4T EDGE DISTANCE -
50" i 63" ANCHOR SPECIFICATIONS. 300" ¢ SEE BEAM SCHEDULE (WOOD) SEE BEAM SCHEDULE
£_~_@ i > 100" ANCHOR SPECIFICATIONS (FRONT VIEW) ANCHOR SPECIFICATIONS
O N (SIDE VIEW) N (FRONT VIEW)
OR\\ o S (CONCRETE & HOLLOW
® e TYPICAL WALL BRACKET CONNECTION DETAIL CONCRETE BLOCKI Z-BAR ANCHOR SCHEDULE 2
I—" SCALE 3" =107 ; 3
;’i L’v MANUF. |DIAMETER DESCRIPTION EOCE | MIN. MK R
50" %\K - DISTANGE| EMBED. | SPACING ngepd
(3) 3/160 STAINLESS STEEL GONCRETE (MIN, fc = 3350 PSI) L R
VETS - o) S
g’i{EAEL ‘é‘(N:Lﬁ"\('ﬁE POP RIVE ELCO | 1/4 IN. [STAINLESS STEEL PANELMATE | 2.50 IN | 2.00 IN | 3.00 IN gfﬁ 2539
T30 = 1 ELCO | 1/4 IN. |MALE PANELMATE (or P.PRO)| 2.50 IN | 2.00 IN | 3.00 IN xg 8‘% 2 *
ELCO | 1/4 IN. |FEMALE PANELMATE 2.50 IN | 1.75 IN | 3.00 IN - S g a<
) 25220
SOLD SIDE 6257 ) W 1/4 IN. |TAPCON SG 250 IN | 1.75 IN | 3.00 IN ‘Q_m 238
5 ALL~POINTS| 1/4 IN. [SOLID-SET ANCHOR 2.00 IN [0.875 IN| 3.00 IN 2 ~&
MILLENIUM | 1/4 IN. |MILLFAST 250 IN | 1.75 IN | 3.00 IN ya& k<
© 5 ® HOLLOW CONGRETE BLOCK E 28
ELCO | 1/4 IN. |STAINLESS STEEL PANELMATE | 2.00 IN | 1.25 IN | 3.00 IN : g 2a
| ELCO | 1/4 IN. |MALE PANELMATE {or P..PRO)| 2.00 IN | 1.25 IN | 3.00 IN S ﬁg
. \@ @{? o A e ELCO 1/4 IN. |FEMALE PANELMATE 2.00 IN|[1.25 IN | 3.00 IN . ff, 2«
LOUVERED SIOE ‘ w 1/4 IN. | TAPCON SG 250 IN [ 1.25 IN[ 3.00 N . 5 = s
N g (INSIDE) o ALL-POINTS| 1/4 IN. |SOLID~SET ANCHOR 2.50 IN |0.875 IN] 3.00 IN @ 2 ho
3 o MILLENIUM | 1/4 IN. |MILLFAST 250 IN | 1.25 IN | 3.00 IN T g e
Z o WOOD (SOUTHERN YELLOW PINE, G=0.54) o
A » 3 ELCO | 1/4 IN. |STANLESS STEEL PANELMATE | 0.75 IN [1.875 IN| 3.00 IN g
N ELCO 1/4 IN. |MALE PANELMATE (or P..PRO) | 0.75 IN |1.875 IN| 3.00 IN
DGE DIST |, QFXE@' I;LAI\' Y.'EXY (LOUVERED SIDE IN) JEDGE DIST ELCO 1/4 IN. |FEMALE PANELMATE 0.75 IN 1.875 IN| 3.00 IN _
: =1- =R 8,
(2) ANCHORS REQ'D AT EACH WALL-HINGE w1 1/4 IN. [TAPCON SG 075 IN | 1.50 IN | 500 N NEEHSE §J§§.
SEE WALL-HINGE ANCHOR SCHEDULE FOR 1/4 IN. | S.S. HANGER BOLT 0.75 IN | 1.25 IN | 1.50 IN 333312 FHE
CONNECTION TO EXIST. STRUCTURE WOOD (SPRUCE-PINE-FIR (SPF), G=0.42) - S 2sks
RS
[ 1/4 N ['ss. HANGER BOLT lo75 v [1.25 v [1.50 wy b e
LOUVERED SIDE z §§ g
-\ -G - -G WALL-HINGE ANCHOR SCHEDULE . : §§§g
(&0R® 6)oR(8) VN, @ pESg
A ~ MANUF. [DIAMETER|  DESCRIPTION EDGE | el | aadt I sl | Eies
(o T 4 DISTANCE . 2 Aol [£E g
@ @/ \@ @7 @ 5 5 -6 CONCRETE (MIN, fc = 3192 PSi) olSlwlTI8] 225
7 . W | 1/4 IN. [SS TAPCON 2.50 IN [ 1.00 IN | 2.00 IN HERES §§n§
SN ; (INSIDE) N s = W |5/16 IN.|TAPCON XL 2.1875 IN| 1.75 IN | 2.00 IN éﬁgﬁ > [Bz2
S o HOLLOW CONCRETE BLOCK KaEd L4 14N
. w | w ELCO | 1/4 IN. ULTRACON 2.50 IN | 1.25 IN [ 2.00 IN COPYRIGHT FRANKL BENNARDOP.E.
> ,' : 5 ITW  [5/16 IN.TAPCON XL 2.1875 IN 1.75 IN | 2.00 IN 15-2347
N : - WOOD (6=0.42 MIN) SCALE: =
. ; TYPICAL PLAN VIEW (LOUVERED SIDE OUT) : N #14 |SMS OR WOOD SCREW 0.75 IN | 1.50 IN | 1.50 IN PAGE DESCRIPTION:
SCALE: 37 = 1-0" 1/4 IN. |LAG SCREW 0.75 IN | 1.25 IN | 150 IN -
DGE DIST |, DGE DIST. .
4 OF
{2) ANCHORS REQ'D AT EACH WALL-HINGE. 6
SEE WALL-HINGE ANCHOR SCHEDULE FOR
CONNECTION TO EXIST. STRUCTURE @




;E»PJ‘\E% q!?gs B4EgNNARDq ,P.E)

106 1.
72 -

YSARERE |

;T@ PLATE 0.090"x1"x3-1/2" WITH (2}
_______ AL
T | |?/A”<D RIV-NUTS (TOP & BOTTOM OF

CLOSED POSITION "“’"—_: PANELS) | «ﬁ(&’@qz
e | @R : . Tt A
0. A, £ ; Sy e
' i e T (S 1
O - G
CLOSED POSITION I Eg U %E & '3"
< < UJl'uu_
ﬂ!< w 8u.|(.') S
\ O MEEE
A BEYE
— I O eown o
gz gl
PLAN VIEW 1 PLAN VIEW 2 PLAN VIEW 3 2ic €39
SCALE: 1-1/2" = 1"-0" SCALE: 1-1/2" = 1"-0" SCALE: 1-1/2" = 1-0" n E:Ll S rw
Ow w
©a

CLOSED POSITION S s N N CLOSED POSITION (2) #14x1" STAINLESS §
S B . STEEL SMS m
; — e O
S D—~ubih | Snan [ === N . Ss*9
B e I EE
o a <
g Q%
g 2ig 5
S= 0 W
-\ TS50 S
\ \ N 5228
A (11 5/16"8 ITW TAPLO i R
- — ) 5/16 N XL {2) #146x1" STAINLESS - L5
OR (2) 174”9 ITW SS TAPCON ) . STEEL Se W5 EX
PLAN VIEW 4 PLAN VIEW § OR {2) 174"% SHEET METAL SCREW 3 e aob
SCALE 11727 = 17-0" SCALE 1-1/27 = 1707 OR {2} 174”9 LAG SCREW L 3 <3
SEE ANCHOR SCHED. FOR MIN £ g2
EMBED. & EDGE DIST. E 52
< £a
g s §g
T N 8 5o
> PLATE 0.090"x1"x3-1/2" WITH (2) Y) 83 = &
174"% RIV-NUTS [TOP & BOTTOM OF 1) 5/16"® ITW TAPCON XL £ dg
1" STAN b
§ CLOSED POSITION PANELS) (2 #ex zTEELf;i OR [2) /49 ITW SS TAPCON = =
| ] e | ] v () Y Y|[OR 12) 17676 SHEET METAL SCREW 3
. 7 . ’F__gﬁﬁ%!gﬁﬁg__} %_ALQ L OR (2) 1/4"% LAG SCREW A
‘ SEE ANCHOR SCHED. FOR MIN
CLOSED POSITION E EMBED. & EDGE DIST. _
w211 8 8.
B AR
= GRISEIE
— gSEd
{1)5/16"% 1TW TAPCON XL g 5|8 mln| (2353
PLAN VIEW 6 PLAN VIEW 7 OR (20 1/47® ITW TAPCON sz lld|E . ggg%
SCALE 1-1/27 = 1-0" SCALE: 1-1/27 = 1-0" OR (2) 1/4”® SHEET METAL SCREW g |z|z|z| [EE3:
OPEN POSITION LOCK OR (2) 1/4"® LAG SCREW AEEEER T
SEE ANCHOR SCHED. FOR MIN Eggg
ANCHOR SCHEDULE: EMBED. & EDGE DIST. = 2528
: g 11
PLATE 0.090"x1"x3-1/2" WITH {2) 2 § %égg
174”8 RIV-NUTS {TOP & BOTTOM OF WITH "C" CLIPS OR DOUBLE "C" CLIPS: ol wlZ[3 gg,;
Xlwlk|Sls| [EBu3
TO 2899 PSI MIN. CONCRETE: HEREIE R
Y e o s b EOEE R N R A o el
" . N wl e £2
(DOUBLE "C* CLIP) (SINGLE "C" CLIP) N N
GLOSED POSITION TO 31?/% '?sfrlw Mslg._r ggc"&nﬁv‘ff 374" MIN COPYRIGHT FRANK L. BENNARDO P.E.
L] - -
Eﬁ‘déEDMENT AND 1" MIN. EDGE DISTANCE. NOTE: 15-2347
CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69, ONE CLIP REQ'D AT MID-SPAN (23"} FOR
TOOLLOM CONCRETE RS 41 S o —
3 - . - ' PAGE DESCRIPTION:
E&IAEDMENT AND 4" MIN. EDGE DISTANCE. e
T30 174 WOOD SCREWS O SHEET METAL SCREWS ’ =
PLAN VIEW 8 * a . OPEN POSITION LOCK
SCALE: 1-1/27 = T-0" Englg:ngT','{ﬂ\}_:ETHREAD PENETRATION AND 3/4" MIN. SCALE: 3" = 17-0" &

e (2) 1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.




FRANK L, BENNARDO, P.E. )
FE0D46549 -

~
S
'\\ .
Y .
QQ.Q
Yy *
> T~ Nop -
CHO g 55 voreohisEm=e
630+ TYP g 19p ,DETAILK vijp vip = A ok T
Tvp. DETAILK \__DETAIL M vip —F—ORK1 = b = : U] P
P #oa K1 OR M1 = /[ o -1 4 e,
T H EAGN 0 O
yy T ey B p— — - A J4io
A4 ‘ / - 7 8oy
~1 11 - Z REQ S
P4 po 7. I = ot -~ o
@®\ Pt P2 7 RS i A ——  A— i i 9 & wGELEE
f £ i o T T TEX 2
I V| —v—1 —V w @—\ DETAIL L S - IS hba
% DETAIL L = (6)or~ | |OR 4a PRw=cn W W ngzz°
ouAl e N | 0B g ST ey : «
&) @)y A < [ HEE o o NS=BIHO
[ \ P LT a ) g D50z
T U —~+ z z =895
z 2830
~- z — e e benz
- g 2 2 i
- w w o w o
o X X o N
x ; : : -
N g v I
v ] > = =
- > e
o)}
L_?;l YZE yzt 8
2 Y2pr— o
? =8 ’ P
| ] - 6.30" B ‘ 3 ' ;e N
6.30" = — b Tve — oy \_@ g USs-9
TYP - 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING " "'-8 > ub g
’ 37" SLIDING 37" SLIDING 34.00" MAX. PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX z & Sedv
34.00" MAX. | 34.00" MAX. PANEL, MAX | | PANEL, MAX 7 i Zﬂ-g 3%
S2eits
g, 02 £ O <
= =)
ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS p Q Zm 8 < 2
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE  N.T.S. SCALE: NT.S. B2 a
SCALE NT.S. v@ k<
f Q
E 2§
E g
3 g8
vijp vi[p . © B<
C i [ g o o
) g = E
SLIDING PANEL TRACKS EXTEND ‘ Q s S
— BEYOND FOR SHUTTER STORAGE — - s gt
IN NON-STRUCTURAL OPEN ; z
- POSITION, TYPICAL. - 3
2SIV p2 Z 5 ) 7 z <
I - 4 | I A —( . _An— o i - a— — —  S— o
I T
FDETAIL L » -DETAIL L, -
LOR4a - AL w "L1, OR 4a | ALY u w|DReS] B8
- z ’ ) z Elsie|3|n| . Besk
: < = N 35(5|5|8| ezt
SoEe o SURe g RARAN
— T £/ [ MAXIMUM ALLOWABLE DESIGN — T 2 2laigaq 2328
3 PRESSURE FOR SLIDING TRACK 5 e §252
v OPTION: o 2 |2zl %Ez’,g
X +57.2 / -66.2 PSF X aeZ|Zz|. ;éﬁ-i
s > 3-—%%
. . = %
: : o) Eigt
& > 2l |8 ggg
179 g 1] 2 g EZ?;
2 2] HEHEER
2558 gégg
X, ) [ N - Us|glmml le%ge
7 — 7 — ool et———— -
37" SLIDING 37" SLl\D_&l% 377 SLIDING 37" SLIDING 37" SLIE%% 37" SLIDING 37" SLIDING YRIGHT FRANKL BENNARDO P.E.
PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX 15_2347
SCALE: -

ELEVATION: 4 SLIDING PANELS

SCALE: N.T.S.

@ ELEVATION: 3 SLIDING PANELS

SCALE: N.T.S.
NOTE: SLIDING PANEL

CONSTRUCTION SAME AS
HINGED PANELS.

PAGE DESCRIPTION:

OF

S




S S S S
7 ANCHORS PER
j “LEG OUT"
7/ SLIDING PANEL
7 TRACK ANCHO

ALTERNATE LEG
DIRECTION

7 SCHEDULE
WAV -
V2
1/4"-20 MACHINE SCREW W
| NUTAT 12" 0.C, TYP.
2xLx0.125 | n Sa
/ALUMINMUM T -
ANGLE :
i i L s ]
e 36/ . )
o
) < >3 ¢ )
ANCHORS PER 0l ‘-@J N

"LEG IN"
SLIDING PANEL
TRACK ANCHOR

SCHEDULE

N

MAXIMUM ALLOWABLE DESIGN
PRESSURE FOR SLIDING TRACK

OPTION:
+57.2 / -66.2 PSF

WHEEL CARRIAGE

TYP.

1|t

ASSEMBLY AT 3"
FROM EACH END AND
10.25 " G.C., TYP.

N—1/4-20 RIVNUT
AT EACH WHEEL

CARRIAGE

aOL)

TYP.

%

%

SLIDING PANEL TOP TRACK

SCALE: N.T.S.

7 " ANCHORS PER/

"LEG IN%,

Ve

7 SLIDING PANE

7 TRACK ANCHOR,
SCHEDUL

/

TYP.

-

CARRIAGE

o

 TRACK ANCHO
s SCHEDUL

Yo

"LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HOST
STRUCTURE

ANCHOR

SLIDING PANEL VERTICAL SPAN

36"

48"

60"

72" 84"

97"

CONCRETE
(3192 PS| MIN,)

1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" 0.C.

16" 0.C.

16" 0.C.

16" 0.C. | 18" O.C.

16" O.C.

1/4" ELCO ULTRACON W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" 0.C.

16" 0.C.

16" 0.C.

16" 0.C. | 18" 0.C.

18" O0.C.

CONCRETE
(3500 PS| MIN.)

1/4" MILLENIUM MILLFAST W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" O.C.

16" 0.C.

16" O.C.

16" 0.C. | 16" O.C.

16" 0.C.

HOLLOW
CONCRETE
BLOCK

1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" 0.C.

13" 0.C.

11" 0.C.

9" 0.C. 8" 0.C.

7" 0.C.

1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" 0.C.

12"0.C.

9" 0.C.

8" 0.C. 7" 0.C.

6" 0.C.

1/4" ELCO ULTRACON W/ 1-1/4" MIN,
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" 0.C.

13" 0.C.

10" 0.C.

8" 0.C. 7" 0.C.

6" 0.C.

516" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE
DISTANCE.

16" O.C.

16" 0.C.

15" 0.C.

13"0.C. | 11"0.C.

9" 0.C.

5/16" EL.CO ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN.
EDGE DISTANCE

16" 0.C.

16" 0.C.

16" Q.C.

14"0.C. | 12" 0.C.

10" O.C.

WOOD (G=0.42
MIN,)

1/4" LAG SCREW W/ 1-1/2" MiN.
EMBEDMENT AND 3/4" MIN. EDGE
DISTANCE

16" O.C.

16" 0.C.

16" 0.C.

16" 0.C. | 16" O.C.

16" O0.C.

#14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN.
EDGE DISTANCE.

16" 0.C.

16" 0.C.

16" Q.C.

16" 0.C.

15" 0.C.

13" 0.C.

NOTE: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED
ANCHOR TYPES AND SLIDING PANEL VERTICAL SPANS FOR "LEG IN"
CONDITION. ANCHORS SHALL BE LOCATED 2" MAX FROM TRACK ENDS.

—1/4-20 RIVNUT
AT EACH WHEEL

SCALE: N.T.S.

n—r
o B B
il
B 2x4x0.125
5 J ” J ” ALUMINMUM
Q 7 | R N ANGLE
1' = 11 = 1 \
1 jvwvj
\ wheEL
I CARRIAGE
1/4"-20 MACHINE ASSEMBLY AT
SCREW W/ NUTAT 3" FROM EACH
3 1270, TYP. END AND 10.25
| 0., TYP.
ALTERNATE LEG
DIRECTION
SLIDING PANEL BOTTOM TRACK

1"x1"x0.062" MIN.
ALUMINUM ANGLE,
FASTENED TO
PANEL WITH 3/16"
5052 ALUMINUM
POP RIVETS @ 24"

0.C. MAX

TOGETHER IN LOCKED POSITION —N

SLIDING PANELS CLIPPED

S

oy /

!

\

G

WHEEL CARRIAGE, TYP.

AT SLIDING PANEL LOCKING EDGE,
PROVIDE 1/4-20 BOLT AND NUT IN FRONT
OF WHEEL CARRIAGE. BOLT SHALL GO
THROUGH ANGLE AND TRACK TO HOLD
PANELS STATIONARY IN CLOSED POSITION.

WHEEL CARRIAGE STOPS FOR SLIDING PANELS

SCALE: N.T.S.

WITH ANGLES

1"x0.062" MIN. ALUMINUM
PLATE, FASTENED TO PANEL
WITH 3/16" 5052 ALUMINUM
POP RIVETS @ 24" 0.C. MAX

SLIDING PANEL INTERLOCK

WITH PLATES

SCALE: N.T.S.

"LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HOST
STRUCTURE

ANCHOR

SLIDING PANEL VERTICAL SPAN

36"

48"

60"

72"

84"

97"

CONCRETE

1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" O.C.

13" 0.C.

10" 0.C.

9" 0.C.

7" 0.C.

6" 0.C.

(3192 PSI MIN.)

1/4" ELCO ULTRACON W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" 0.C.

16" 0.C.

13" 0.C.

11" 0.C.

9" 0.C.

8" 0.C.

CONCRETE
(3500 PSI MIN.)

1/4" MILLENIUM MILLFAST W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" 0.C.

13" 0.C.

10" 0.C.

9" 0.C.

7" 0.C.

6" 0.C.

1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

7" 0.C.

§"Q.C.

4"0.C.

1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

6" 0.C.

4" 0.C.

4" 0.C.

3"0.C.

3" 0.C.

HOLLOW
CONCRETE
BLOCK

1/4" ELCO ULTRACON W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

6" 0.C.

5"0.C.

4" 0.C.

3"0.C.

3"0.C.

516" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE
DISTANCE.

10" O.C.

7"0.C.

8" 0.C.

5" 0.C.

4" 0.C.

4" Q.C.

5/16" ELCO ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN.
EDGE DISTANCE

10" O.C.

8" 0.C.

6" 0.C.

WOOD (G=0.42

1/4" LAG SCREW W/ 1-1/2" MIN,
EMBEDMENT AND 3/4" MIN. EDGE
DISTANCE

16" 0.C.

14" 0.C.

11" 0.C.

10" Q.C.

8" 0.C.

7" 0.C.

MIN.)

#14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4” MIN.
EDGE DISTANCE.

13" 0.C.

10" 0.C.

8" 0.C.

70.C.

6" 0.C.

5"0.C.

NOTE: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR
TYPES AND SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT"
CONDITION. ANCHORS SHALL BE LOCATED 2" MAX FROM TRACK ENDS.

FRANK L. BENNARDO, P.E.
# PEC046549 G

TE .10

P: (954) 354-0660 F: (954) 354

/
E: HELLO@ENGINEERINGEXPR

/
/

ENGINEERINGEXPRESS.COM
CERT OF AUTH #9885

160 SW 12th AVE,.
DEERFIELD BEACH

A Division of ABC Supply Co., Inc.

Wholesale Aluminum and Building Products
400 WEST MCNAB ROAD FT. LAUDERDALE, FL 33309
FLORIDA PRODUCT APPROVAL #16219.2

wiS22S| B 8,
AR
0538§ %;55%
8 2e58
%|aigjajal 258
uu.t—u.u.g?’%
= ]
gz‘mmm.égvig
ségg
g i
= |8 2
@Sy |3 o2l
wi uh
:z::‘é§g §§“§
E=iQ = o
HEEEE NG
COPYRIGHT FRANK L. BENNARDO PE.
SCALE: -

PAGE DESCRIPTION:

OF

&




